LH-20-2,3 01/02/2008
LH-20-2

Macca (HeTT0) 16.8 Kg

Buemnue Pazmepsl 270*250*350 mm*r_n’*mm

2

]



01/02/2008

LH-20-2,3
¥V3ea nacoca LH-20-2
Kop HanmeHoBaHune Mpumetise | Moanuua B
MOCTb JeTannupoBke
11131005 |BonT wkmea M10x45(JleBOCTOPOHHMI) 1 1
11124001 |UWanba ctonopHas NeBOCTOPOHHAS D8 1 2
21213002 |lan6a 38 1 3
21212002 |Lkne $266,7 1 4
11131001 |Bont kpenneHus kpbiwikn M6x20 7 5
11123002 |Ulanba ®6 7 6
21113002 |lNepenHsis Kpbillka 1 7
21152002 |lNpoknagka nepegHen KpbILLKK 1 8
21161002 |Manxeta ®25x35x7,5 1 9
21134001 MoawmnHnk 620572 1 10
21131002 |KoneHnBan 1 11
21111003 |KapTep + uunuHap 1 12
21169001 |lNpobka cnneBa macna 1 13
21164001 |IMma3ok macnoykasartens 1 14
21112003 |3agHsas KpbllKa 1 15
21155001 lMpoknagka 3agHen KpbILKN 1 16
21134002 MogwnnHmnk 6304 1 17
21166001 |CanyH 1 18
21132002 |WaTyH 1 19
21143002 Maney nopwHsa ®14,5x57,5 1 20
21141003 |lMNopweHb ©65 1 21
21144002 |CronopHoe konbuo ©14,7 2 22
21145003 KomnnekT koney nopliHeBbix P65 1 23
21151002 lMpoknagka 6noka knanaHoB, HMXHAS P65 1 24
21124003 | KnanaHHbIU 6510K 8 Komriniekme P65 1 25
21154001 Mpoknagka 6noka knanaHoB, BepxHAs P65 1 26
21123001 "onoBka uunuMHapa 1 27
11113001 |lavka ©14,5-27 1 28
21173001 | YronbHuK 1 29
11123003 |I'paBepHas wanba ©8 4 30
11132005 BonT Kkpbiwkn 6noka ymnnHgpos M8x40 4 31
21175002 |®unbTp BO34YLUHbIN B cbope 1 32
11122001 MepaHas wanba O8 2 33
11132004 |Bont BO3ayLuHOro cpunbtpa M8x30 2 34
21126002 | AnromuHuesas rnpoknadka 1 25/3
21177012 |[lampoH 8030yWwHO20 ¢husibmpa 1 32/2
21125013 |[lmacmuHbl KnanaHHbIE 8 KoMririekme (2wm) 1 25/2




01/02/2008

LH-20-2,3




LH-20-2,3 01/02/2008
V3ea nacoca LH-20-3
Mpumense | [lo3vums B
Kop HanmeHoBaHue pM 0CTh [eTanMpoBKe
21111023 |KapTtep 1 1
11141001 |Wnunbka 4 2
21131002 |KoneHBan 1 3
21134001 |MoawwmnHuk 62052 2 4
21113002 |lNepenHsis Kpbillka 1 5
21161002 |MaHxeTa $25x35%7,5 1 6
21152002 |lMpoknagka nepegHen KpbILKM 1 7
11131001 |BonT KpenneHus Kpblwkn M6x20 7 8
11123002 |LUanba ¢6 7 9
21132002 |lWaTtyH 1 10
21141003 |lNopweHb 65 1 11
21143002 |Maney nopwHsa ®14,5x57,5 1 12
21144002 |CtonopHoe konbuo ®14,7 2 13
21145003 |KomnnekT konew nopLuHeBbix 65 1 14
21134002 |MoawmnHuk 6304 1 15
21155001 |[Mpoknagka 3agHen KpbILLKK 1 16
21112003 |3agHsisa KpblwKa 1 17
21153001 |[Mpoknagka uunuHap-kapTep 1 18
21121004 |UunuHap 65 1 19
11123003 |['paBepHas wanba ©8 8 20
11111002 |larika M8 4 21
21123001 |lonoBka uMnuHOpa 1 22
21154001 |MMpoknagka 6noka knanaHoB, BepxHss P65 1 23
21124010 |KnanaHHbI 6ok B komnnekte ®65 1 24
21151002 |[Mpoknagka 6noka knanaHoB, HWKHAS P65 1 25
11132006 |Bont M8-50 4 26
21175002 |®dunbTp BO34YLUHbIN B cbope 1 27
11122001 |MepgHas wanba P8 2 28
11132004 |BonT BO3gyLUHOrO hunbTpa M8x30 2 29
21173001 |YronbHuk Y-UNF90” 1 30
21212002 |LUkue $266,7 1 31
11131005 |BbonT wkuea M10x45 (JleBOCTOPOHHUNI) 1 32
11124001 |LWanba ctonopHasa neBOCTOPOHHAS O8 1 33
11121011 |Wanba ¢38-5 1 34
21164003 |Macnoykasatenb G1/4 1 35
21169001 |lNpobka cnneBa macna 1 36
21166001 |CanyH M16-1,5 1 37
11113001 |[anka ®14,5-27 1 38
21126002 |AntoMunHMEBast Npoknagka 1 24/3
21177012 |NaTpoH BO3AYyLWHOro unbTpa 1 27/2
21125013 |lpacTuHbl KNanaHHble B KOMMekTe (21r) 1 24/2




	LH-20-2

